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program logi
implicit none
logical :: lo
integer :: i, ]
write(*,*) 'Please inputiand j.’
read(*,*) i, j
lo=i<]
write(*,*) "i < jis ", lo
lo=i>=j
write(*,*) "i >= j is", lo

stop

- end program logi E
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lo = (1 <j).and.(i==})

- lo = (i < 10).or.(j > 1)

* lo = .not.(I ==j)

- lo = (i < 10) .eqv. (j > 1)
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program logi2
implicit none
logical :: lo
integer :: 1, j
write(*,*) 'Please inputiandj.’
read(*,*) i, j
lo = (i <j).and.(i ==)
write(*,*) "i<j.and.i==jis ", lo
lo = (i<10).or.(j>1)
write(*,*) "i<10.or.j>1is ", lo

stop

end program logi2 n
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